EBW1:. A COMPUTERCODEFOR THE PREDICTION OF THE BEHAVIOR OF
ELECTRICAL CIRCUITS EXPLODINGWIRE ELEMENTS
by T. J. Tucker

(most pages have been deleted)

RESISTIVITY

GOLD RESISTIVITY vS SPECIFIC ACTION
1200 o o
!
Lo .;
> | \ }
- ' | !
> | 1 i T
= L
> I \
w I
@ ; i |
R T / \ |
. ’ 1..=:-17 ‘“'/1 i ';
. N ¥ ¥ 100000
SPECIFIC ACTION
GOLD RESISTIVITY VS ENERGY DENSITY

1200. -

|

|

p——

' 5000

ENERGY DENSITY

32


me
Typewritten Text

me
Typewritten Text
EBW1: A COMPUTER CODE FOR THE PREDICTION OF THE BEHAVIOR OF ELECTRICAL CIRCUITS EXPLODING WIRE ELEMENTS
by T. J. Tucker    
(most pages have been deleted)

me
Typewritten Text

me
Typewritten Text

me
Typewritten Text

me
Typewritten Text

me
Typewritten Text

me
Typewritten Text


600

RESISTIVITY

600

RESISTIVITY

30

COPPER  RESISTIVITY VS SPECIFIC ACTION

- 1
| ” |
i - -t N
| | i
N

| | ; |
B N
L | L
f ; ‘ !
S " ' g ’ | : %
S S~
N =, » | J 553000
SPECIFIC ACTION
COPPER  RESISTIVITY VS ENERGY DENSITY
[ [ | )
| | | n
AN
] | 15000

ENERGY DENSITY


me
Typewritten Text


RESISTIVITY

1900

RESISTIVITY

SILVER RESISTIVITY VS SPECIFIC ACTION
i
N D S
r——-- —
| | | | ?
R — T
S R R B // ~—
) SPECIFIC ACTION 150000
SILVER RESISTIVITY VS ENERGY DENSITY
T ['"""_ -
T ;
? S -+ |
| | |
; |
|

ENERGY DENSITY

5000

33



Nitrogen
Gas Vent
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EXPLODING BRIDGE WIRE STUDIES
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SHOT 2 BRIDGEWIRE CURRENT VS TIME
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Voltage actually shoots up to 
10,502 Volts @ 0.162uS when wire
has a resistance of 9.82 Ohms. See partial data below
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